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SELF EVALUATION TEST I 

PAPER I - UNIT- III: GENERAL APTITUDE & MENTAL ABILITY 
 
Time: 1.15 hrs                                     Total Marks: 100 

SECTION A 
4 x 10 = 40 

Answer any Four questions out of Six questions.  
Answer not exceeding 150 words each  
 

1. Answer the following questions.  
gpd;tUk; tpdhf;fSf;F tpilasp. 

A. A student multiplied a number by 
3

5
instead of

5

3
.  What is the percentage error 

in that calculation? 

 xU khztu; xU vz;iz 
5

3
My; ngUf;Ftjw;F gjpyhf 

3

5
> My; 

 ngUf;fpdhh;> vdpy; me;jf; fzf;fpy; Vw;gLk; rjtPjg; gpioia fhz;f. 
 

B. The salary of a Person was reduced by 10% by what percent should his reduce 
salary be raised so as to bring it at par with his original Salary? 
xU egupd; Cjpak; 10% Fiwf;fg;gl;lJ.  Fiwf;fg;gl;l Cjpaj;ij Kjypy; 
thq;fpa Cjpaj;jpw;F rkkhf cau;j;Jtjw;F Cjpaj;jpy; vj;jid tpOf;fhL 
cau;j;jg;gl Ntz;Lk;? 

  
2. Answer the following questions.  

gpd;tUk; tpdhf;fSf;F tpilasp. 
 
A. If x% of y is equal to z, Then what percent of z is x? 

 y-d; rjtPjkhdJ x%f;F rkk; vdpy; x vd;gJ z-y; vj;jid rjtPjk;? 
 

B. An item costing Rs. 200 is being sold at 10% loss.  If the price is further reduced 
by 5%.  What will be the selling price? 

 &. 200 kjpg;Gs;s xU nghUs; 10% e~;lj;jpy; tpw;fg;gl;lJ. NkYk;  5% tpiy 
 Fiwf;fg;gl;lhy;> mg;nghUspd; tpw;w tpiy vd;d? 
 

3. Answer the following questions.  
gpd;tUk; tpdhf;fSf;F tpilasp. 
 

A. If on an average 1 ship out of 10 do not arrive safely to ports. Find the mean 
and the standard deviation of ships returning safely out of a total of 500 ships 
xU JiwKfj;jpy; ruhrupahf 10 fg;gy;fspy; xU fg;gy; gj;jpukhfj; 
jpUk;Gtjpy;iy.  500 fg;gy;fspy;> gj;jpukhfj; jpUk;gp tUk; fg;gy;fspd; 
ruhrupiaAk;> jpl;ltpyf;fj;ijAk; fhz;f. 
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B. A bag contains 5 red balls and some blue balls. If the probability of drawing a 

blue ball from the bag is thrice that of drawing a red ball, then find the number 
of blue balls in the bag. 
xU igapy; 5 rptg;G kw;Wk; rpy ePy epwg;ge;Jfs; cs;sd.  mg;igapypUe;J 
xU ePy epwg; ge;ij vLg;gjw;fhd epfo;jfT> xU rptg;G epwg; ge;ij 
vLg;gjw;fhd epfo;jftpd; %d;W klq;F vdpy;> mg;igapYs;s ePy epwg; 
ge;Jfspd; vz;zpf;ifiaf; fhz;f. 
 

4. Answer the following questions.  
gpd;tUk; tpdhf;fSf;F tpilasp. 

 
A. For a sightseeing trip, a tourist selects a country randomly from Argentina, 

Bangladesh, China, Angola, Russia and Algeria. What is the probability that the 
name of the selected country will begin with A? 
mu;n[z;bdh> gq;fshNj~;> rPdh> mq;Nfhyh> U~;ah kw;Wk; my;[Pupah Mfpa 
ehLfspd; ngau;fisf; nfhz;l gl;baypypUe;J xU Rw;Wyhg;gazp rktha;g;G 
Kiwapy; xU ehl;bd; ngaiuj; Nju;e;njLf;fpwhu;.  “m” vd;w vOj;jpy; 
Muk;gkhFk; ehl;bd; ngaiu Nju;e;njLg;gjw;fhd epfo;jfT vd;d? 
 

B. Let A, B, C be any three mutually exclusive and exhaustive events such that  P 

(B ) = 
3

2
P (A ) and P (C)= 

1

2
P (B) . Find P(A). 

 A,B kw;Wk; C vd;gd xd;iwnahd;W tpyf;Fk; kw;Wk; epiwT nra;  epfo;r;rpfs; 

 vd;f.  NkYk;> P (B ) = 
3

2
P (A)  kw;Wk; P (C)= 

1

2
P (B) vdpy;>  P(A)-I fhz;f. 

5. Answer the following questions.  
gpd;tUk; tpdhf;fSf;F tpilasp. 
 

A. A bag consists of 100 shirts of which 88 are good, 8 have minor defects and 4 
have major defects. A trader A will accept only the shirt which are good, but 
the trader B will not accept the shirts which have major defects. One shirt is 
drawn at random. What is the probability that it is acceptable by (i) A (ii) B ? 
xU igapy; cs;s 100 rl;ilfspy;> 88 rl;ilfs; ey;y epiyapYk;> 8 
rl;ilfs; rpwpa Fiwghl;LlDk; kw;Wk; 4 rl;ilfs; ngupa Fiwghl;LlDk; 
cs;sd.  A vd;w tzpfu; ey;y epiyapy; cs;s rl;ilfis kl;LNk Vw;fpwhu;.  
Mdhy; B vd;w tzpfu; mjpf FiwghL cila rl;ilfis kl;Lk; Vw;f 

kWf;fpwhu;.  rktha;g;G Kiwapy; VNjDk; Xu; rl;ilia Nju;e;njLf;f mJ (i) A 
-f;F Vw;Gilajhf mika (ii) B -f;F Vw;Gilajhf mika Mfpadtw;wpw;F 
epfo;jfTfisf; fhz;f. 
 

B. A bag contains 5 blue balls and 4 green balls. A ball is drawn at random from 
the bag. Find the probability that the ball drawn is (i) blue (ii) not blue. 
xU igapy; 5 ePy epwg;ge;JfSk;> 4 gr;ir epwg;ge;JfSk; cs;sd.  
igapypUe;J rktha;g;G Kiwapy; xU ge;J vLf;fg;gLfpwJ.  vLf;fg;gLk; 
ge;jhdJ (i) ePykhf (ii) ePykhf ,y;yhky; ,Ug;gjw;fhd epfo;jfitf; fhz;f. 
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6. The probability that A, B and C can solve a problem are , 
4

5
, 

2

3
, 

3

7
 and respectively. 

The probability of the problem being solved by A and B is 
8

15
 , B and C is 

2

7
 , A and C 

is 
12

35
 . The probability of the problem being solved by all the three is 

8

35
 . Find the 

probability that the problem can be solved by atleast one of them 

A, B, C MfpNahu; xU tpdhtpw;Fj; jPu;T fhz;gjw;fhd epfo;jfTfs; KiwNa 
4

5
, 

2

3
, 

3

7
 vd;f. A  kw;Wk; B ,UtUk; Nru;e;J jPu;T fhz;gjw;fhd epfo;jfT 

8

15
.  B kw;Wk; C 

,UtUk; Nru;e;J jPu;T fhz;gjw;fhd epfo;jfT 
2

7
. A kw;Wk; C ,UtUk; Nru;e;J jPu;T 

fhz epfo;jfT 
12

35
, %tUk; Nru;e;J jPu;T fhz epfo;jfT 

8

35
 vdpy; ahNuDk; xUtu; 

mt;tpdhtpd; jPu;T fhz;gjw;fhd epfo;jftpidf; fhz;f. 
 

 
SECTION –  B 

4 x 15 = 60 
Answer any four questions out of six questions. Answer not exceeding 250 
words each 
 

7. Answer the following questions.  
gpd;tUk; tpdhf;fSf;F tpilasp. 
 

A. A trader buys an article for `1,200 and marks it 30% above the C.P. He then 
sells it after allowing a discount of 20%. Find the S.P. and profit percent. xU 
tpahghup xU nghUis `1200f;F thq;fpdhu;.  gpd;G mjd; mlf;f tpiyf;F 
Nky; 30% cau;j;jp> Fwpj;j tpiy Mf;fpdhu;. ,jw;F 20 % js;Sgb nfhLj;J 
tpw;whu; vdpy;> tpw;gid tpiy kw;Wk; ,yhg rjtPjk; fhz;f. 
 

B. A water heater is sold by a trader for ₹ 10502 including GST at 18% and 11% 
profit. Find the M.P of the water heater, profit and GST. 
tu;j;jfu;> xU jz;zPu; nfhjpfyid 11% ,yhgk; kw;Wk; 18%ruf;F kw;Wk; 
Nrit tupiar; Nru;j;J ₹ 10502f;F tpw;whu;.  jz;zPh; nfhjpfydpd; Fwpj;j 
tpiy> ,yhgk;> ruf;F kw;Wk; Nrit tupiaf; fhz;f. 
 

8. A survey was conducted among 200 magazine subscribers of three different 
magazines A, B and C. It was found that 75 members do not subscribe magazine A, 
100 members do not subscribe magazine B, 50 members do not subscribe magazine C 
and 125 subscribe atleast two of the three magazines. Find (i) Number of members 
who subscribe exactly two magazines. (ii) Number of members who subscribe only 
one magazine. 
A, B kw;Wk; C vd;w %d;W ntt;NtW tifahd ,jo;fs; thq;Fk; 200 re;jhjhuu;fsplk; 
elj;jg;gl;l Ma;tpy;> 75 egu;fs; A vd;w ,jio thq;Ftjpy;iy vdTk;> 100 egu;fs; 
B vd;w ,jio thq;Ftjpy;iy vdTk;> 50 egu;fs; C vd;w ,jio thq;Ftjpy;iy 
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vdTk;> 125 egu;fs; Fiwe;jJ ,uz;L ,jo;fshtJ thq;FtjhfTk; fz;lwpag;gl;lJ.  
mjpy;> 
(i) rupahf ,uz;L ,jo;fis thq;Fk; re;jhjhuu;fspd; vz;zpf;if> 
(ii) xNu Xu; ,jio kl;Lk; thq;Fk; re;jhjhuu;fspd; vz;zpf;if Mfpatw;iwf; fhz;f. 
 

9. Answer the following questions.  
gpd;tUk; tpdhf;fSf;F tpilasp. 

 

A. If P (A) = 
1

2
, P (B) = 

7

10
, ( )P A B = 1.  Find (i) ( )P A B  (ii) P ( ' ')A B . 

A kw;Wk; B vd;w epfo;r;rpfspy; P (A) = 
1

2
, P (B) = 

7

10
kw;Wk; ( )P A B = 1 vdpy;> 

(i) ( )P A B  (ii) P ( ' ')A B  Mfpatw;iwf; fhz;f.  

 
B. At a fete, cards bearing numbers 1 to 1000, one number on one card are put in a 

box.  Each player selects one card at random and that card is not replaced.  If 
the selected card has a perfect square number greater than 500, the player wins 
a prize.  What is the probability that (i) the first player wins a prize (ii) the 
second player wins a prize, if the first has won? 
xU nghJ tpohtpy;> 1 Kjy; 1000 tiu vz;fspl;l ml;ilfs; xU ngl;bapy; 
itf;fg;gl;Ls;sd.  tpisahLk; xt;nthUtUk; xU ml;iliar; rktha;g;G 
Kiwapy; vLf;fpwhu;fs;.  vLj;j ml;il jpUk;g itf;fg;gltpy;iy.  
Nju;e;njLf;fg;gl;l ml;ilapy; vz; 500-I tpl mjpfkhf cs;s tu;f;f vz; 
,Ue;jhy;> mtu; ntw;wpf;fhd gupirg; ngWthu;.  (i) Kjypy; tpisahLgtu; gupR 
ngw (ii) Kjyhktu; ntw;wp ngw;w gpwF> ,uz;lhtjhf tpisahLgtu; ntw;wp 
ngw Mfpa epfo;r;rpfSf;fhd epfo;jfTfisf; fhz;f. 
 

10. In a class of 35, students are numbered from 1 to 35. The ratio of boys to girls is 4:3. 
The roll numbers of students begin with boys and end with girls. Find the probability 
that a student selected is either a boy with prime roll number or a girl with composite 
roll number or an even roll number. 
35 khztu;fs; cs;s xU tFg;gpy; xt;nthUtUf;Fk; 1 Kjy; 35 tiu vz;fs; 
nfhLf;fg;gl;Ls;sd.  khztu;fSf;Fk; khztpfSf;Fk; cs;s tpfpjkhdJ 4:3 MFk;.  
tupir vz;fs; khztu;fspy; njhlq;fp khztpfspy; KbtilfpwJ.  xUtu; 
tFg;gpypUe;J Nju;e;njLf;fg;gLfpwhu;.  mtu; gfh vz;iz tupir vz;zhff; 
khztuhfNth my;yJ gF vz;iz tupir vz;zhff; nfhz;l khztpahfNth 
my;yJ ,ul;il vz;iz tupir vz;zhff; nfhz;ltuhfNth ,Ug;gjw;fhd 
epfo;jfitf; fhz;f. 
 

11. The number of accidents in a year involving taxi drivers in a city follows a Poisson 
distribution with mean equal to 3. Out of 1000 taxi drivers find approximately the 
number of drivers with (i) no accident in a year (ii) more than 3 accidents in a year [e−3 

= 0.0498]. 
xU efuj;jpy; thlif tz;b Xl;Ldu;fshy; Vw;gLk; tpgj;Jfspd; vz;zpf;if 
gha;]hd; gutiy xj;jpUf;fpwJ.  ,jd; gz;gsit 3 vdpy;> 1000 Xl;Leu;fspy; (i) xU 
tUlj;jpy; xU tpgj;Jk; (ii) xU tUlj;jpy; %d;W tpgj;JfSf;F Nky; Vw;gLj;Jk; 
Xl;Ldu;fspd; vz;zpf;ifiaf; fhz;f. [e−3 = 0.0498]. 
 

12. A researcher would like to determine whether there is a relationship between a 
student’s interest in statistics and his or her ability in mathematics. A random sample 
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of 200 students is selected and they are asked whether their ability in mathematics 
and interest in statistics is low, average or high. The results were as follows:  
 Ability in mathematics 

Interest in 
statistics 

 Low Average High 

Low 60 15 15 

Average 15 45 10 

High 5 10 25 

 
 If a student is selected at random, what is the probability that he / she  
(i) has a high ability in mathematics  
(ii) has an average interest in statistics  
(iii) has a high interest in statistics  
(iv) has high ability in mathematics and high interest in statistics and  
(v) has average ability in mathematics and low interest in statistics.  
 

xU Muha;r;rpahsu; khztu;fspd; fzpj jpwikf;Fk;> Gs;spapay; Mu;tj;jpw;Fk; ,ilNa 
cs;s njhlu;igf; fz;lwpa tpUk;gpdhu;.  Nrhjidf;fhf 200 khztu;fis rktha;g;G 
Kiwapy; Nju;e;njLj;J mtu;fsplk; fzpjj; jpwik kw;Wk; Gs;spapay; Mu;tk; 
Mfpatw;iw FiwT> ruhrup> mjpfk; vdf; Fwpg;gpLkhW $wp Nrfupf;fg;gl;l Gs;sptptug; 
gl;bay; fPNo nfhLf;fg;gl;Ls;sJ. 

 
 fzpjj;jpy; jpwik 

Gs;spapaypy; 
Mu;tk; 

 FiwT ruhrup mjpfk; 

FiwT 60 15 15 
ruhrup 15 45 10 
mjpfk; 5 10 25 

xU khztiu rktha;g;G Kiwapy; Nju;e;njLf;Fk;NghJ mtu; 
(i) fzpjj;jpy; mjpf jpwik 
(ii) Gs;spaypy; ruhrup Mu;tk; 
(iii) Gs;spapaypy; mjpf Mu;tk; 

(iv) fzpjj;jpy; mjpf jpwik kw;Wk; Gs;spapaypy; mjpf Mu;tk; kw;Wk;  
(v) fzpjj;jpy; ruhrup jpwik kw;Wk; Gs;spaypy; Fiwe;j Mu;tk; cilatuhf ,Uf;f 
epfo;jfT vd;d? 
 

  

 


